[19]

| €]

T~ IV / PART = 1V
Fregey T / COMPUTER SCIENCE

Rdyr : i wodl & guv 89 & fow gag afEd fAFeT gl

Direction : Answer the following questions by selecting the most appropriate option.

91. DBMS % &=¥ &, #1 T1 a1 T2 &
S oiveeE ¥ g X W SRy &
T1:READ(X)  T2:READ(X)

T1: WRITE(X) T2 : WRITE(X)
TE T v I B

(1) = fis

(2) @i euse

(3) EHLFE FHU

(4) eRdreew e

92. C++ ¥ UH Sifesige &t feaiaw qar Il
FAE & dfestge | ZMMRTEEsS &
B TR icasionses Epeslanifd
(1) Copy constructor
(2) Default constructor
(3) Overloaded constructor
(4) Non-parametrized constructor

93. UF A7 3F T gU U/ & Ufree
9 Few § 9gad SQL FHIS B
(1) MODIFY  (2) UPDATE
(3) INSERT (4) ALTER

94, frta Qe T(n) = T(n — 1) + 2 &
A 2, o8l n > = 0 T 7(0) = 5
2
(1) T(n)=2n-5 (2) T(m)=n->5
(3) Tn)=2n+5 (4) T(n)=n-3

95. C++ % wed #, = g ®ede I
fermme &
while(5) {cout <<"Hello";}

5 T G ceeveninn ar Hello HafRfd
fepa T |
(1) e U (2) U=
3) IH (4) 3
. Level-3/4321

91.

92.

93.

94.

95.

In context of database, let T1 and T2 are
two concurrent transactions, Consider the
following sequence of operations on data
X

T1 : READ(X)
T1: WRITE(X)
This is a
(1) Dirty Read

(2) Lost Update

(3) Incorrect Summary
(4) Unrepeatable Read

T2 : READ(X)
T2 : WRITE(X)
problem.

...............

is used to declare and
initialize an object from another object
of same class in C-++.

(1) Copy constructor

(2) Default constructor

" (3) Overloaded constructor

(4) Non-parametrized constructor

SQL command used to modify attribute
values of one or more selected tuples is :

(1) MODIFY  (2) UPDATE
(3) INSERT (4) ALTER

Solution to recurrence relation 7(n) =
T(n — 1) + 2 is given by, where n > =0
and 7(0) = 5.

(1) T(n)=2n-5 (2) Tm)=n-3

@ Tm)=2n+5 @ Tw=n-3

In context of Ct++, consider following
loop-statement :
while(5) {cout <<"Hello":}

Hello will be displayed .......... time(s)
by the above loop.

(1) Only one (2) Five
(B)eZeros (4) Infinite
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97.

98.

99.

100.

(1) ABCD

(1) 99 e (2) HIZgAIE
3) faw = (4) st

Ct+ # © 39 & Raeikye & private,
protected TT public HlgsH
S G R |

(1) frdl ot %9 & e fraet o A%

(2)ai’rhaﬂfﬁzsqmar(amfaﬂﬁsﬂm
q

(3) HRYH UH SR aUT o 6 A
i

(4) Freel ol SR WX ol g A A

i Te=@ (3¢ &) V = {4, B, C,
D} T & §Y=d (T §e) E = {4B,
AC, BC, BD, DC)} a1l U SERES %
G={V, E} | @K &< |

frr & @ @9-a1 I% G &1 T IR
AR 567 & °

(2) BACD

(3) BADC (4) ABDC

9 & 8 #9-@1 WLAN ReiRe

(geem) A & ?
(1) IEEE 802.11
(2) IEEE 802.11i
(3) IEEE 802.11b
(4) IEEE 802.11g

8 9cqE AW TP UG
A et i (S

G W f@R &t
) I S 49 T
SfF R () T8 &, @ G § sy
| I (To) HFEn e

1 8
3) 28

@) 16
@) 64

. Level-3/4321

96.

97.

98.

99

100.

There are several common terminologies
used for signal rate in the'literature of
computer networks. Which pf the
following is not a common terminology
for signal rate ?
(1Y Pulse rate
(3) Bit rate

The keywords private, protectefl and

public may appear , in the

declaration of a class in C++.

(ly in any order and any number of
times

(2) at the most one time and in any
order

(3) at the most one time and strictly in
the order

(4) any number of times but strictly in
the order

Consider a directed graph G = {V, E}
with vertex set V' = {4, B, C, D} and
edge set £ = {AB, AC, BC, BD, DC}.
Which of the following is a valid
topological ordering of graph G ?

(2) Modulation rate
(4) Baud rate

(1) ABCD (2) BACD

(3) BADC “4) ABDC

Which of the following
WLAN security standard ?
(1) IEEE 802.11

(27 IEEE 802.11i

(3) IEEE 802.11b

(4) IEEE 802.11¢g

Consider a graph G of 8 vertices
containing no self loop. If there is no
more than one edge between any pair of
vertices, maximum possible number of
edges in G are :

(1) 8
(3) 28

specifies

(2) 16
4) 64
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101.

102.

103.

104.

-1 T w92 X e &%
-1 -2

i. d98g (baidu) a. QYT AeafpT

ii. ofciEmar (alibaba) b. #-ia

iii. f¥e-g9 (linkedin) c. @ 2o

iv. AT FEREE d. SRS S

V. T (airmail) . e. 9 FER

RE-1 T &49-2 T G 8

(1) i-d, ii-a, iii-c, iv-b, v-e

(2) i-c,ii-d, iii-a, iv-¢, v-b

(3) 1i-e, ii-a, iii-b, iv-c, v-d

@) 1i-c,ii-e, iii-b, iv-d, v-a

C+ #, = ¥ @ s9-a1 s shy
Ty AEER 78 ?

(1) private (2) public

(3) protected (4) mutable

-1 T &2 T @R &
-1 W9-2

i, UEHETE THRT  a. e Sk Rl

. 3Red STRfET feeH

iii. Igq aediie

iv. ZEEEeTRH T P fEH

v. 9 I . S d W

-1 T -2 H GAA ©

(1) i-e, ii-a, iii-b, 1v-c, v-d

(2) i-c, ii-e, iii-b, iv-d, v-a

(3) i-d, ii-a, iii-c, iv-b, v-¢

(4) i-c, ii-d, iii-a, iv-e, v-b

39 97 W BSF 9= & R &0 fod (B
wH) & 9 'We Love BSF Very Much'
quft @ fg fr & @ BN I0gHR
foea © 7

(1) <html> We Love <FF = "Border
Security Force"> BSF </FF> Very
Much </html>

<html> We Love <BSF = "Border
Security Force™ BSF </BSF>
Very Much </html>

(3) <html> We Love <abbr title =
"Border Security Force"> BSF
</abbr> Very Much </html>
<html> We Love <Full "Border
Security Force"> BSF </Full> Very
Much </htm]>

°opo g

@)

(4)

Level-3/4321

[21]

101.

102.

103.

104.

[C]

Consider Column - I and Column - 2 :

A

(1)
g
(4)

Column-1 Column-2

baidu Social Networking
alibaba E-mail

linkedin Search Engine

Online Shopping
Web Browser

mozilla firefox

© oo op

airmail

Match of Column-1 and Column-2 is :
i-d, ii-a, iii-c, iv-b, v-¢
i-c, ii-d, iii-g, iv-e, v-b
i-e, ii-a, iii-b, iv-c, v-d
i-c, ii-e, iii-b, iv-d, v-a

In C++, which of the following is not a
valid access specifier ?

(1) private
(3) protected

(2) public
(4y" mutable

Consider Column-1 and Column-2 :

i

ii.
iii.
v,
V.

Column-1 Column-2

Microsoft Excel a. Remote Desktop Access
Oracle b. Operating System
Ubuntu c. Spreadsheet

EBCDIC d. Binary Code System
Team Viewer e. DBMS

Match of Column-1 and Column-2 is :
(1) i-e, ii-a, iii-b, iv-¢, v-d
(& i-c, ii-e, iii-b, iv-d, v-a
(3) 1i-d, ii-a, i1i-c, iv-b, v-¢
(4) i-c,1i-d, iii-a, iv-e, v-b

Which of the following is appropriate
option to display on web page 'We Love
BSF Very Much' with a tool tip (full
form) for the word 'BSF' ?

(M

)

)

Q)

<html>" We Love <FF = "Border
Security Force"> BSF </FF> Very
Much </htm[>

<html> We Love <BSF = "Border
Security Force"™> BSF </BSF>
Very Much </html>

<html> We Love <abbr title =
"Border Security Force"> BSF
</abbr> Very Much </html>
<html> We Love <Full "Border
Security Force"> BSF </Full> Very
Much </html>

P.T.O.

Scanned with CamScanner



http://haryanacurrentaffairs.com

Scanned with CamScanner




109.

110.

p i 2 1S

112,

113.

http://haryanacurrentaffairs.com/

Ctt & dod § fr= & - &

orgfIT Few B 7

(1) T Fma (%) @& fm oo
(), soE & GaE e T
HET I ¥

(2) UF &IH H W BHE, FOE D
At ot e o wer 3

(3) U% wH (F) F v 2y v
Faq FE B wfd wE eEE
qary & vady R o gwar 8

@) Riex s wew & o 5=
Fad O & B aFa B

..........

, &I e St & dirder
B R a3 B R 39 B

(1) <cite >

(2) <refer>

(3) <highlight>

(4) <bold>

.............. IR E S e
St g8 @ Fa & B a
offpar o S 2 W R T @
ENIEE

(1) 8fo &o dlo

(Z)ﬂoaﬂtoiﬁg

(3) &=

(4) IR TS

frt § § olffReml & -9 T SQL
¥ o (oeaEERE) Seum &
afe & B 7

(4] COUNT,'M.AX. AVG, SUM
(2) MAX, AVG, SUM, SELECT

- (3) UNION, COUNT, MIN, DESC
. (&) AVG, MIN, MAX, ASC

T e
el S S

‘.;'{L"_ BRpLAeTAL

[23]

108.

110.

111,

112,

113.

[C]

In context of C++, which of the
following is invalid statement ?

(1) Friend function of class is not
considered a member function of
the class.

Member function of a class can be
defined outside the class.

Static data member of class can be
accessed only by static member
function of the class.

Static data member is initialized
with a zero only.

In HTML Version 5 the ' element
is appropriate for marking up the titles
of works of art, music, movies, books etc.
(1) <cite >

(2) <refer>

(3) <highlight>

(43 <bold>

OSI stands for :

(1) Online Secure Interconnection

(2) Online Systems Internet

(3) Open Security Information

(4 Open Systems Interconnection

is a challenge response
mechanism to ensure that on the other

side a person is responding and not a
machine.

(1) O.T.P.

(2) Q.R.Code

(3> Captcha

(4) Bar Code

Which of the following set of
operations is a valid set of aggregate
operations in SQL 7

(1) COUNT, MAX, AVG, SUM
2) MAX, AVG,SiM SELECT

@

.........

............

(4 AVG MIN MAX,ASC

mr.a. i
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114.

115.

116.

http://haryanacurrentaffairs.com/

frt e @i W fEr &

<html> Task Completion Status

<meter value = "0.8"> 80% Completed

</meter> </html>

99 9T W efia ameege & A # g

/B F GG FL

I: 2RE 'Task Completion  Status:'
efiia 8mm

In: ;?"a '80% Completed’ wafdfa

' :

I1:80% 1 91 gam, o& afeaar A1
wefdfa arm

(1) Tedn (2) nwEm

(3) 1Td 1 (4) I, 1nud I

F= 3 A - cedionem & fraa o
I TE 8 ?

(1) <p> (2) <br>

(3) <abbr> (4) <sup>

EMPLOYEE %&a # & 08 uwitgs &
ecode M FH & forw, 193 address #
INDIA' omar &, /9 SQL #:&f w

foam &% :
SELECT ecode
FROM EMPLOYEE

[24]

114.

115.

116.

Consider the following HTML code :

<html> Task Completion Status

<meter value = "0.8"> 80% Completed

</meter> </html>

Choose frue statement(s) about the

output displayed on web page :

I: Text 'Task Completion Status: is
displayed.

I: Text '80% Completed'
displayed.

111 : A graphical gauge, 80% filled with
colour is displayed.

(1) Tand 1l (2) Mand I

(3) Tand Il (@ I 1T and HI

Which of the following is empty or void
element in HTML ?

(1) <p> 2y <br>

(3) <abbr> (4) <sup>

Consider the following SQL query to
retrieve ecode of employees from

EMPLOYEE table, whose address
contains 'INDIA" :

SELECT ecode

is not

ik AT 5 S v b P 1

e e A
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118.

119.

120.

121.

122.

123.

k= = 5 o e ;

() FEREA  (2) wgg

0) RREE 4y sad e
CSMA/CD W8N @ a5 Seo

mﬂlOMbps%laﬁWwﬁ
(NOeT) &9 (el & fore e o
S S B R R AR D
TORSHETST Y TU) 25.6 AEshl Febvgd B |
B BN AAH ST F B 7

(1) 512 9=ey

(2) 1024 s13TH
(3) 64«1z (4) 32 9EeH
THETHTE H covvvennnnnns afedle, S99 aon
P ERe HA A TYE B 8, [N B
aish< Il B
(1) <SCRIPT >
(2) <SUB>

(3) <SUB SCRIPT>
(4) <SUB SCR>

.............

3) =&
oF & A A S F T, HA
o7 AeTe AAG @ ST §
2rem) A 5 A-aers, 100
For 10 fHel-9eh'S & L
80% &l *
T & o L
AGREERS
9) :
(1) 512 (2) 1024
(3) 10024 (4) 128
@me.z+zﬁﬂﬁa_ﬁ5@
e B 7
(1) yty.z
(3)iz

2) y+tz
&) yz

Level-3/4321

[25]

118.

119.

120.

121.

122.

123.

[C]

Which of the following feature is not
supported in CH+ ?

(1) Inheritance  (2) Abstraction
(3r Reflection (4) Dynamic Binding

A network using CSMA/CD has a
bandwidth 10 Mbps. If the maximum
propagation time (including delays in
the devices and ignoring the time needed
to send a jamming signal) is 25.6 micro
seconds. What is the minimum size of
the frame ?
(1) 512 bytes
(3) 64 bytes

(2r 1024 bytes
(4) 32 bytes

In HTML the element is
used to contain characters that should
be sub-script.

(1) <SCRIPT >

2y <SUB>

(3) <SUB SCRIPT>

(4) <SUB SCR>

In MS-PowerPoint-2007, comment
about the selection can be added using
new comment option found in
comments group under
(1) Design (2) Insert
(3)- Review (4) View

In a three level memory hierarchy, the
access time of cache, main and virtual
memory is 5 nano-seconds, 100 nano-
seconds and. 10 milli-seconds respectively.
If the hit ratio is 80% for the cache and
99.5% for the main memory, then the
closest average access time of memory
hierarchy in nano-seconds is :

(1) 512 (23 1024

(3) 10024 (4) 128

Boolean expression y.z + Z is equal to
which of the following ?
(1) y+ty.z ) yt+z
(?)}Z “4) yz
P.T.O.
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[C]

124.

125.

126.

127.

128.

129.

frer & @ @F-a1 g ST & U
Sfuc @isth 787 © 7

@M >t xy=x

2) xy+xy=y

@) XYy +xy=x

(4) (x+y+z)=x'y.z

digeday e & daw #, frw & 9§
PH-A1 ML Squdie MW #1 uh WY
37T R 78 B 7

(2)

(3)%%&@

(4) FHNe =T

THUG-TAREEE-2007 H .ovvevee JeA [T
P HA A A e BB b
fre, &9 T @l TgE HY T ¢ |
() 9@ e (@) &X

(3) fFrewE 4) fibe T f=

Riger & fg & @ @F-ar, AdegT a9
g A9l oFErR  dedE A
Sqeett @ e § ?
(1) fasrer LS

) fiEr femet

(3) ZeferdT STfwrd

(4) fdeST egsed

T gftran ool 9 feEr Y
I: xy+xy II: XOR(x',y")
11 : XOR(x', )

AR s 2 o e = = 1 P

NOR SRR el Hid & ?
(1) TTdIn (2) 1ud Il

(3) I Td I (4) 1, 11 Tg 101

Level-3/4321

[26]

124.

125.

126.

127.

128.

1297

Which of the following is not a valid
expression of Boolean Algebra ?

(OD] 2 gyl

2) x'y+xy=y

@7 Xy 4+xy=x :

4) (x+y+z)=x.yz

In windows, we go 10 ......... option in
control panel to uninstall a program
from our computer.

(1) Default Programs

(2) Action Center

(3) Device Manager

(4" Programs and Features

In context of software testing, which of
the following testing is not a level or
type of development testing ?

(1) System testing

(2) Unit testing

(3L Release testing

(4) Component testing

In MS-PowerPoint-2007 after clicking
.......... button we can use arrow keys to
move the splitters which separates the
different sections of the current window.
(b~ Move Split ~ (2) Ruler

(3) Gridlines (4) Fit to window

In windows which of the following,
helps protect users from malware and
other potentially unwanted software ?
(1) Windows Mobility Center

(2> Windows Defender

(3) Indexing Options

(4) Windows Updates

Consider  the
expressions :

I xy+xy
I XOR(x', ) ,
Which of the above expressions
represents exclusive NOR operation ?
(1) Tand II (2) IandIII

(3) II and II1 (4) I II and II1

following  Boolean

II: XOR(x',y")

Scanned with CamScanner
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130.

131.

132.

133.

134.

FelM TRY ARUIH x F ST B

Iredl, WX ST Risersles =W

b T ¥, 7 T H g A

[: X o wait() TRIT signal() SR
FI & e R o e

I 3 99 P SR x. wait() @
TG &A1 & M P T T feite

WA T o % &g R R x.

signal() T STTea T & |

: X._signal() STRYE &% & frifed

T T ST 3§ oW AR

P GG Fefeg T 8, @ 5@

11

ik A TE B
(1) 1Tg I (2) I1wd I
(3) 1w Il (4) I,11Td I

THUE-AS & H<H 3, TRt
T SR P TH @ © N Y T
& A T ST o Theb SRS
& w9 § gafed Hd B

............

(3) HE IHLA
(4) BEAGHAL
(87A); +(50B)y¢ FT AT %

(1) (346110 (2) (3472)5
(3) (9EA)ie (4) (63215)g

220 grzz qar 240 ARE BT oo
e 3 gqF 2|

(1) 1MB, ITB  (2) 1GB, 1TB

(3) 1KB, 1GB

............

Level-3/4321

[27]

[C]

130. Choose frue statements in context of

131.

132.

133.

134.

monitor based synchronization scheme

that uses condition type -variable x

]: Only wait() and signal() operations
can be invoked on X.

[1: If process P invokes X. wait()
operation; then P is suspended until
another process invokes X. signal().
The x. signal() operation resumes
exactly one suspended process and
if no process is suspended, then it
has no effect.
(1) TandII

(3). I and III

In context of MS-word is a
series of commands and instructions that
you group together as a single command

to accomplish a task automatically.
(1) Mail Merge

[T :

(2) 1 and TI
(4) 1,11 and III

~ (2) Macro

(3 Cross Reference

(4) Hyphenation

Sum of (87A);6 +(50B);¢ 1s :
(1) (346D)19 (2) (3472)g
By (OEA)i6 (4) (63215)g

224 bytes and D bytes are respectively

equalifoer s 2hiTe RS e ;
() 1MB,1TB (2) 1GB, 1TB
(3) 1KB,1GB (4) IMB, 1GB

Let A and B are two devices used to
play video games. In A there is
provision of a handle on a base and
buttons for pressing/revolving, while
video games are played using B holding
it in both the hands and moving it in the
air this or that side. Most suitable names
for A and B in order are :
¢ Joy-Stick, Game Pad
(2) Light Pen, Joy-Stick
(3) Game Pad, Track Ball
(4) Game Pad, Joy-Stick

P.T.O.
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135. HFT giolew™E T1 9 Sl e Q W
e | S W wX R ¥ aun ool
T2 ¥ el amged R X fafdre-Ais fd
X w2 form B e )ofEr

R

I:T1, Q& g Tl & Wy Q &I ford
el Hehal |

II: T2, R H 9¢ §H ¢ G R A fr@
&l GehT |

Sad § A SR e BE

(1) Haa 1 (2) et I

3) ITEIIas  (4) FA 18R F a1l

136. THUH-3ThY € H QAfdehe Foit 'Crrl' +
= (e o qur = H G ),
& T4 3 Rre Rear s R
(1) Te-fepe 9 & fog

(2) IR F9H & fog

(3) B9 & faeAl &t REM & e

(4) 28T & FEN B WU

iail Fge fea| @ 4

7

.............

137.

138. P § @ @ oimfen faed #

139. Y (f&ER) § (34.36);9 & AW @ :
(1) (10010.0101),
(2) (10010.10111),
(3) (1010.10111),

(4) (100010.010111),

THUH-TRS B = COMBIN (4, 2)

SSTYE T BT ?
(1) 8
(3) 16

Level-3/4321

140.

) 6
@ 2

[28]

135.

136.

137.

138.

139.

140.

T1 has obtained a 141.

Let transaction ; |
shared-mode lock S on data item Q and

transaction T2 has obtained an
exclusive-mode lock X on data item R.

Consider the following slnlcmcn.\ls J
I:T] can read Q but cannot write Q.

II: T2 can read R but cannot write R.

14
Which of the above statement(s) is/are
valid ?
(1) Only I (2) Only 11
(3) Bothland Il (4) Neither I nor II
In MS-Office word short cut key 'Ctrl" +
('Control' and key pressed
together) isused 1O ....oovvviann .
(1) Create Sub-Script
(2) Create Super-Script
(3) Show Hidden Marks
(4> Increase Indent

Which of the following is not valid pair
of input devices ?

(1) Light Pen, Digital Camera

(2) Scanner, Microphone

(3) Trackball, Joy-stick

(4 Plotter, Mouse

Which of the following is not related to
synchronization in Operating System ?
(1) Bounded Buffer problem

(2) Readers-Writers problem

(3) Dining Philosophers problem

(4 Belady's Anomaly

Value of (34.36),(in binary is :

(1) (10010.0101),

(2) (10010.10111), ;
(3) (1010.10111),

4 (100010.010111),

What is the output of MS-Excel
function = COMBIN (4, 2) ?

(1) 8 r 6
(3) 16 @) 2
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141.

142.

143.

144.

145.

AR SShFmRer & dad ¥

. wet ff, Frsr o @
E%TW Remde  ghffer o) e
STeRT AT Tfofafy 72 % 7 {
(1) ?Rmaf"jﬂl fersaryoy
(2) Remiey fere qur R
(3) RerRAz i R
(4) st fafsdem

I RS PR ¥
BIC SO 1T & &, F® Goq a2
AHFR H T &R H taRe
GG e bl s B

(1) SehesE

(2) Ui

3) g

(4)

fret § @ Pier A (6103)g B A
7 & 7

(1) (110001000011),

(2) (C43)16

(3) (313910

(4) (30103)4

SATA & e ©

(2) Riger TN ,
3) SRaT TedS S Sfewre

(4) Rive o S SR

a8 2007 & UHE AERH
%mﬂwmﬁﬁaﬁﬁm%
R ‘e faded SET BT €

75 faed 3 afeeid OrE S 6 |
(1) Reg B, 0T T

(2) IH o, FE TE

3) Reg ¥, FHR TE

(4) Yptg Y, feiefume o ES[ECHI

e .

THTg-eiithd

----------

Level-3/4321

[29 ]

141,

142.

143.

144.

145.

[C]

Which of the following is nof a phase or
activity of requirement engineering in
context of software engineering 7

(1) Feasibility study

(2) Requirements elicitation and analysis
(3) chuircmcnlvalidalion

(47 Component specification

mass  storage  devices......... is
process of rearranging/relocating many
gmall non-contiguous blocks of data,
into fewer contiguous big-sized blocks.
(Xf I)cl'ragmcnlation

(2) Paging

(3) Booting

(4) Restoring

Which of the following value is not
equal to (6103)g ?

(1) (110001000011)

@ (C43);6

(3) (31399

(4) (30103)4

SATA stands for :
(1) Serial Active Technology Association

In

(2) Simple  Algorithm  Technique
Association

(3 Serial  Advanced  Technology
Attachment

(4) Simple Active Technique Attachment

To combine revision from multiple authors
into a single document, option 'combine’
is used in MS-Office word 2007.

This option is found under ..........
(1) Review tab, Changes group
(2) Reference tab, Captions group

(3) Review tab, Compare group

(4)Reference tab, Bibliography &

Citation group

P.T.O.
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_146. 9 ¥ ¥ P YT Qe Fr U%h 146. Which of the following is nof a type of

TR 7& & 7 computer port ?
(1) SCSI (2) POP3 (1) SCSI (2) POP3
(3) PS/2 (4) USB (3) PS/2 (4) USB

147. TOH-URA #, U6 3o A 9 R 147. In MS-Excel, to repeat a text for a given
I YGTRER &= & o g .. number of times, we can use€ ...........
BT HgHK BT GhA 2 | function.
(I) BAHTTEXT (2) REPEAT (1) BAHTTEXT (2) REPEAT
(3) EXACT (4) REPT (3) EXACT (4) REPT

148. THUH-UIaRERE-2007 & &9 + H sid-ae 148. In MS-PowerPoint-2007 short-cut key
qﬁ 3@‘?{3&' HERe L % fog HE Bl Control = Fiis used 0. ... vorvsmuves in the
Bl document.
(1) ﬂﬁ gU R FH quﬁ (1) Hide selected text
(2) e R<iade (2) Replace text
(3) T TR TN (3) Create hyper text
(4) BT @ BeX f@m (4 Show header and footer

149. THUHE-TRG-2007 &, P § & - 149.  In MS-Excel-2007, which of the following
gM o9 faquere q9 H 9T S @ 7 is found in the home tab Clipboard group ?
(1) §f¢ ds fex (1) Sort and Filter
(2) 7% U ¥ex (2¥ Merge and Center
(3) BT Tex (3) Format Painter
(4) PEITA BEfT (4) Conditional Formatting

150. Hifeqay Rwq onfceay & dgw & 150. Fill in the blank in context of software

. R gfef &Y : system architecture -

,,,,,,,,,,,,,,,, iR § foem A In ............ architecture, the processing
STeT TEEHYT 36 FhX FaARYd [hal Sl of the data in a system is organized so
T & yde wEE ges Ry aur U that each processing component is
YHR H T[ET SO AT &1 ST TH discrete and carries out one type of data
ek 4 TR UeH S $ R transformation. The data flows from one
Ve 2 B component to another for processing.
(1) 939 a7 fheex (1) Pipe and filter
() RofEd (2) Repository
3) T (3) Layered
(4) FET g1 (4) Client-Server

Eis
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